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- PHILOSOPHY
| [Honours } |
PAPER — I
Full Marks : 90
Time : 4 hours -
The figures m the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary

[NEW SYLLABUS]
[ Long Answer Type Questions ]

Answer any two questions, taking one
from each Group : 15x2

GROUP — A

1. Explain the four causes, according to Aristotle.
How do they get culminated into Aristotle's
dualism of form and matter ? 12+3
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2. Explain the first Cartesian philosophic principle :
"Cagito ergo sum.” Is knowledge of one's
existence intuitive or inferential ? 10+5

3. Explain the relation between substance and mode,
according 1o Spinoza. ‘ 15

GROUP - B

4. What are the innate ideas ? How does Locke
refute the doctrine of innate ideas ? What is its
bearing upon his theory of knowledge? 3+8+4

5. Explain Berkeley's refutation of Abstract ideas. 15

6. How does Kant distinguish between analytic
and synthetic judgement ? Explain. Is it
satisfactory ? 10+ 5

[ Semi-Long Answer Type Questions ]

Answer any five questions, taking at least two
from each Group : 8 x5

GROUP — A

7. Explain the theory of Being, according to
Parmenides. - N 8
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9.
10.

11.

12.
13.
14.
15.

1o.
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Explain how Plato distinguishes between belief
and knowledge ?

Explain, after Descartes, the criterian of truth.

Does Spinoza in his philosophy uphold the
one at the expense of many 7 Give reasons for
your answet.

Explain briefly Leibnitz's doctrine of pre
-¢stablished harmony.

. GROUP -B

How does Locke distinguish between primary and
secondary qualities ? D:scuss

Does the principle, esse est perc1pl" lead to
solipsism ? Give a reasoned answer.

Write a short note on Hume's rejection of
3| .

metaphysics.

Give a synoptic account of Hegel's 'Dialectical
Method'.

What is existentialism 7 Give a brief sketch of

basic tenets of existentialism. 2+6
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-+ { Short Answer Type Que’s’t’ions )

Answer any five questions, takmg at least two

from eachGroup: -+ *  4x5

GROUP -A
17. What is knowledge, ac.cordir.t‘g- te Socrates i 4
18. What is substance, according to Aristotle ? ‘4
19. Is Descartes a sceptic ? ._ _. o 4
20. What is _substance, according eo Spineza ?2 4

21. How does Leibnitz dlstmgulshes between truths
of reason and truths of fact ? : 4

GROUP - B

'22. What are the different types of knowledge,
according to Locke ? o 4

23. How does Berkeley reject the distinction
between primary and secondary qualities. as
upheld by Locke ? SR 4
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24. How doesHume distinguishes between knowledge - -
- . concerning relations of ideas and knowledge
concerning matters of fact ? 4

25. Distinguish between a-pnorl and a-postcrlorl
Judgements after Kant ' - 4

26. What is phenomenology ? =~ =~ a4
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